10

107t

Ratio to Herwig 7.2.1 default
[N

0.5

7000 GeV pp Top (parton level)
_| T T T T T | Tt T T T T | T 1T T 1T 7T 17 | T
B AQ (ttbar) (Mtt > 450 dy > 0) h
E --3-- Herwig 7.2.1 default E
~ —— Pythia 8.230 default N
I ¢ Sherpa 2.2.9 default ]

mcplots.cern.ch [arXiv:1306.3436]

= HE 4 —=
= - -
-, Lt -
:l | | | | | | | | | | | -
:l T T T T | T T T T | T :
-1\ 4 ]
- ; | B
RS SR NY S S & SV S |
| " 1 " 3"I : 1 -;‘u I‘ " | 1 1 1 1 " | " 1
0 1 2

Rivet 3.1.10, = 500k events

N

0.5



	Contents
	Page 1


